## OSTA Fur Auction Results

## **Zanesville Sale Results**

Total Sales: \$24,042.10

Averages						
Beaver						
Avg. \$15.30	Description	No. Pelts	High	Low	Average	Total
	Beaver 2X (60-65) Damaged/Rub	25	\$29.00	\$5.00	\$22.94	\$573.50
	Beaver 3X (70+) Damaged	7	\$30.50	\$30.50	\$30.50	\$213.50
	Beaver LG (55-60) Damaged/Rub	20	\$18.00	\$4.00	\$11.28	\$225.50
	Beaver LG (55-60) Good	1	\$1.00	\$1.00	\$1.00	\$1.00
	Beaver LG (51-55) Rubbed/Dam	3	\$7.00	\$2.00	\$5.33	\$16.00
	Beaver med (47-51) Damaged/Rub	9	\$13.00	\$7.50	\$9.94	\$89.50
	Beaver Sm (42-47) damaged/rubbed	13	\$6.00	\$2.00	\$4.54	\$59.00
	Beaver XL (60-65) Damaged/Rub	21	\$27.00	\$2.00	\$17.33	\$364.00
	Beaver XSm (<42) Damaged/rubbed	2	\$2.00	\$1.00	\$1.50	\$3.00
	Total	101				\$1,545.00
Coyote						
Avg. \$4.60	Description	No. Pelts	High	Low	Average	Total
	Coyote # 1	5	\$10.00	\$5.00	\$7.80	\$39.00
	Coyote # 2	10	\$5.00	\$2.00	\$4.40	\$44.00
	Coyote # 3	1	\$5.00	\$5.00	\$5.00	\$5.00
	Coyote Damaged	4	\$1.00	\$1.00	\$1.00	\$4.00
	Total	20				\$92.00
Grey Fox						

Avg. \$13.36	Description	No. Pelts	High	Low	Average	Total
	Grey Fox # 1	9	\$19.50	\$13.00	\$15.39	\$138.50
	Grey Fox # 3	1	\$7.50	\$7.50	\$7.50	\$7.50
	Grey Fox damaged	1	\$1.00	\$1.00	\$1.00	\$1.00
	Total	11				\$147.00
Mink						
Avg. \$14.29	Description	No. Pelts	High	Low	Average	Total
	Mink F/Cot-Damaged	4	\$3.00	\$1.00	\$1.75	\$7.00
	Mink Female 17	2	\$4.00	\$4.00	\$4.00	\$8.00
	Mink Female 17-18	22	\$12.00	\$5.00	\$7.77	\$171.00
	Mink FM/slight	2	\$5.00	\$1.00	\$3.00	\$6.00
	Mink Lg. male	89	\$18.00	\$7.00	\$17.40	\$1,548.25
	Mink M/Cot-damaged	3	\$3.00	\$0.50	\$1.50	\$4.50
	Mink ML/slight	3	\$11.00	\$3.00	\$8.33	\$25.00
	Mink XL Male	61	\$18.00	\$5.00	\$14.57	\$888.50
	Total	186				\$2,658.25
Muskrat						
Avg. \$6.13	Description	No. Pelts	High	Low	Average	Total
	Muskrat 13+LG Fall	707	\$10.00	\$2.00	\$7.27	\$5,137.50
	Muskrat 13+LG Winter	546	\$9.00	\$5.50	\$8.61	\$4,279.00
	Muskrat Damaged	387	\$6.25	\$0.30	\$3.41	\$1,320.50
	Muskrat Flats	34	\$6.40	\$1.00	\$2.95	\$100.40
	Muskrat Kits	108	\$3.20	\$0.25	\$0.78	\$84.20
	Total	1782				\$10,921.60
Other						
Avg. \$2.00	Description	No. Pelts	High	Low	Average	Total

	Beaver castor	1	\$2.00	\$2.00	\$2.00	\$2.00
Otter						
Avg. \$15.67	Description	No. Pelts	High	Low	Average	Total
	Otter-LM-slight/damaged	1	\$5.00	\$5.00	\$5.00	\$5.00
	Otter XLG-Good (38x8)	2	\$21.00	\$21.00	\$21.00	\$42.00
	Total	3				\$47.00
Possum						
Avg. \$1.24	Description	No. Pelts	High	Low	Average	Total
	Possum LG	64	\$2.50	\$0.25	\$1.54	\$98.75
	Possum M	22	\$1.50	\$0.25	\$0.86	\$19.00
	Possum Sm/Damaged	13	\$1.00	\$0.25	\$0.40	\$5.25
	Total	99				\$123.00
Raccoon						
Avg. \$7.73	Description	No. Pelts	High	Low	Average	Total
	Raccoon 2X (#1&2) 29-32	256	\$14.00	\$2.00	\$10.57	\$2,705.25
	Raccoon 2X (#3) 29-32	50	\$7.50	\$0.50	\$4.37	\$218.25
	Raccoon 2X (low) 29-32	4	\$0.25	\$0.25	\$0.25	\$1.00
	Raccoon 2X (slights) 29-32	28	\$9.00	\$2.00	\$5.36	\$150.00
	Raccoon 3X (#1&2) 32+	156	\$20.00	\$3.00	\$14.14	\$2,205.50
	Raccoon 3X (#3) 32+	26	\$13.00	\$4.25	\$7.70	\$200.25
	Raccoon 3X (slights) 32+	13	\$14.00	\$4.25	\$10.25	\$133.25
	Raccoon LG (#1&2) 24-27	140	\$6.50	\$0.25	\$4.21	\$589.25
	Raccoon LG (#3) 24-27	17	\$3.25	\$0.25	\$1.50	\$25.50
	Raccoon LG (low) 24-27	32	\$2.50	\$0.50	\$0.86	\$27.50
	Raccoon LG (slights) 24-27	18	\$7.50	\$1.25	\$4.04	\$72.75
	Raccoon M (#1&2) 22-24	35	\$4.00	\$0.50	\$2.31	\$81.00
	Raccoon M (#3) 22-24	1	\$0.25	\$0.25	\$0.25	\$0.25

	Grand Total	3284				\$24,042.10
	Total	28				\$364.00
	Red Fox damaged	1	\$0.50	\$0.50	\$0.50	\$0.50
	Red Fox # 3	1	\$5.00	\$5.00	\$5.00	\$5.00
	Red Fox # 2	10	\$15.00	\$5.00	\$9.90	\$99.00
	Red Fox # 1	16	\$18.00	\$5.00	\$16.22	\$259.50
Avg. \$13.00	Description	No. Pelts	High	Low	Average	Total
Red Fox						
	Total	1053				\$8,142.25
	Raccoon (slights) 27-29	19	\$6.50	\$2.00	\$4.89	\$93.00
	Raccoon (low) 27-29	3	\$0.50	\$0.50	\$0.50	\$1.50
	Raccoon XL (#3) 27-29	35	\$7.00	\$1.00	\$3.24	\$113.25
	Raccoon XL (#1&2) 27-29	202	\$10.00	\$2.00	\$7.42	\$1,499.25
	Raccoon SM (slights)	1	\$1.00	\$1.00	\$1.00	\$1.00
	Raccoon M (slights) 22-24	3	\$2.00	\$2.00	\$2.00	\$6.00
	Raccoon M (low) 22-24	14	\$5.00	\$0.50	\$1.32	\$18.50